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ENVIRONMENTAL SCIENCE
Paper - 11
1. Species richness : 3. Arrange the atmospheric layers in their

order :

(A) Increases towards equator
(a) Exosphere

(B) Decreases towards equator () Mesosphere
(C) Remains same throughout the (c) Troposphere

planet (d) Stratosphere
(D) Has no effect on change in latitude Codes :

Ay (. (), ®b), (@
(B) (d), (¢}, (a), (b}

€ ), (a), ), (©
Carbondioxide molecule wise global D) (), (), (), (d)

2. Assertion (A):

warming potential is low. However its
overall contribution is more than 50%.

- - 4. The sequence of IUCN threatened
LEUE species incorporated in Red Data Book

Total carbondioxide molecules are much 1s as follows :

more than any other greenhouse gases. (a) Rare

Codes : (b)) Vulnerable

- ) (c) Endangered
(A) Both (A) and (R) are true and (R)

is the correct explanation of (A) (d) Extinct

_ ' : Codes :
(B) Both (A) and (R) are true but (R)

is not the correct explanation of 4) (), @), (), @

@) ® ®, @ ©
(C) (A) is true but (R) is false ' . ) (o, (@), (@
D) (A) s false but (R) is true D) @, b). @, @
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5.
(a)

®)

()

(d) Approved drug

Match the following :

Dealing with (i} Green book
threatened plants and

animals of any region

Rare plants growing {ii) Red data book
in protected area like
botanical gardens
IUCN - endangered

species of the world

(ii1) Yellow book
(av) Blue book
products with

therapeutic

equivalence
evaluations

Codes :

(@ (b) (c) (d)
@ @ @ G G
B Gv) (i) @) .(i)
© @) @ @ @)
D) (i) vy @ @)

Recent statistics shows that the total
deaths from infectious diseases are
estimated as 15 million by the WHOQ, in
. which the highest percentage is due to :

(A) HIV/AIDS

(B) Malaria

==

LR e

Assertion (A) :

Organic farming is a production system,

which avoids or largely excludes the use

of synthetically compounded fertilisers,

pesticides, growth regulators and

livestock feed additives.

Reason (R) :

Organic farming systems rely upon crop

rotations, crop residues, animal

menures, legumes, green menures, off-

farm organic wastes, mechanical

cultivation, mineral bearing rocks, and

assets of biological pest control to

maintain soil productivity and tilth, to

supply plant nutrients and to control

insects, weeds and other pests.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Find the right order for the production
of the energy in India, as on 2016 :
{(a) Wind

(b} Nuclear .
{c} Solar

(d) Tidal

Codes :

AN



A

9.

@
(b)
(c)
(d_)

10.

Match the following :

List -1 List - II
Earth day (i) March 22
World water day (i) April 22
World ozone day (i) February 2
World wetland day (iv) September
16

Codes :

(@) (b)) (@ (@)
A O G G @)
B) ) Gvy G) @
(€ Gv) @G @ @)
D) Gy @) @Gv) Gii)

An association between two individuals

or populations where both are

benefitted and where neither can
survive without the other is :

(A) Competition
(B) Commensalism
(C) Mutualism

(D) Proto - Co-operation

Paper-II

11,

12.

Assertion (A) :

A 1984 study conducted by Dr. Kay
Kilburn, showed that children raised in
the South Coast Air Basin suffer at
10-15% decrease in lung function
compared to children who grow up
where the air is less polluted.

Reason (R) :

Children exposed to summer ozone
pollution year in, year out have a great
susceptibility to respiratory infections
because chronic exposure to smog
impairs their immune system.

Codes :

(A} Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
i8 not the correct explanation of
(A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Identify the correct sequence :
(a) Ecosystem

(b) Population

(c) Community

(d) Organism

Codes :

@A @), ®), @), @

(B)Y (@), (), b), (@)

G M), @, @, ©

D) (), (), (@), ®)
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13.

14.

Soil gets polluted by a number of ways
and major kind(s) of soil pollution are :

(a) Acidification
(b) Salinisation and sodification
(c) Agrochemical pollution

(d) Contamination by metalliferous
water

Codes :

(A) (a), (0) are correct

B) (o), (d), (b) are correct
(C) (a), (®), (o), (d) are correct

(D) (d), (a) are correct

The concept that population tends to
increase geometrically while food
supply increases arithmetically was put

forward by :
(A) Adam Smith
(B) Charles Darwin

(C) 'Thomas Malthus

(D)  Stuart Mill

15.

16.

AN

Assertion (A) :

Red sunset is the common phenomenon
of polluted cities.

Reason (R) :

Fine aerosols from the industrial
emissions are responsible for this
phenomenon.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)

is not the correct explanation of

A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

The sequence of genetic diversity is as
follows :

(a) Populations

(b) Individuals

{¢) Chromosomes

(d) Genes

(¢) Nucleotides

Codes :

(A) (a), (b), (c) are correct

B) (e), (b), (c), (d) are correct
(C) (b), (a), (d), (e) are correct
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17.

()
()

©

CY

18.

Match the following :

List-1 List - 11
Convention on (1) Johannesburg
wetlands
The Earth (i1) Stockholm
Summit
World (iii) Ramsar
Summit on
Sustainable
Development
United (iv) Rio de Janerio
Conference
on the Human
Environment
Codes :
@ () (© (@
(A) vy () Gi) @
@ ® Gi) @) @)
(C) Gi) Gv) @ (G
D) () @ Gv (G

Major pollution sources of the aquatic
environment are :

(a) Domestic wastes

(b) Agricultural wastes

(c) Industrial effluents

(d) Materials of Biclogical origin
Codes :

(A) (a), (d) are correct

(B) (c), (a), (b) are correct

(C) (b), (d) are correct

(D) (a), (b), (c), {d) are correct

Paper-II

19.

20.

Compared to entrophic lake, an
oligotrophic lake tends to have a
greater :

(A) Supply of oxygen in the deep
waters

(B) Number of blue-green algae

{C) Biological oxygen Demand

(D) Amount of degradable organic

matter

Assertion (A) :

Xenchiotics are toxic to soil biota,
inhibit seed germination and suppress
plant growth.

Reason (R) :

The primary approach to managing
xenobiotics in soil i8 to utilize the ability
of soil microorganisms to degrade these
compounds.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A)

(C) (A) is true but (R) is false
(A) 1s false but (R) is true

(D)
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21.

22.

Identify the correct sequence :
(a) Skimming
(b) Screening

(¢) Degritting

(d) Sedimentation
Codes :

A @ ), @D, (@
B ®), @, @, (d

©) (@, (@), (), ®)

D) (@), (@), ), (©

The sequential steps involved in
treatment are :

(a) Separation of solids from liquid

(b) Oxidation of organic and oxygen
demanding materials

(¢) Neutralization

(d) Removal of poisonous substances
and disposal of residues

Codes :

A (@ G, @ @
(B) (@, D), (@), (@
©) (@, 0 () @ |

23.

24.

o o 4 el e LR

00O

Match the following :

Energy available in kilocalories at

different trophic levels :
List -1 List - I1

(a) Zooplankton (1) 1

(b) Phytoplankton (i) 0.1
{(c) Human (iit) 10
(d) Fish (iv) 100
Codes :

(@ () (© (@
A O G) Gi) @Gv)
B) @) Gv) G) @
© @ @ Gv (i)
D) (v @) @ G

Terrestrial ecosystems :

(a) Tundra : arctic and alpine

(b) Tropical grassland and savanna
(c) Semi-evergreen tropical forest

(@)

Wetlands : marshes and swamp

~ forests
Codes :
(A) (a), (b), (d) are correct
(B) (b), (c), (d) are correct
(C) (a), (), (¢) are correct

(a), (c), (d) are correct

iy Ay

e B?;B_'l 7
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25.

26.

The extent of the input and output
environment varies extremely and
depends on the following variables :
(a) Size of the system

(b) Metabolic intensity

(¢) Autotrophic - heterotrophic
balance

(d) Edge effect

Codes :

(A) (a), (b), (c) are correct

(B) (b), {c), (d) are correct
(C) (a), (c), (d) are correct
(D) (a), (b), (d) are correct

Assertion (A) :

Fluoride concentration below 0.5 ppm

over a period of 5 - 10 years result in

fluorosis terminating in crippling or

paralysis.

Reason (R) :

Fluoride is not absorbed in the blood

stream. It has an affinity for calcium

and gets accumulated in the bones

resulting in molting of teeth, pain the

bones and joints and outward bending

of legs from the knee.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true and (R)
is not the correct explanation of
(A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Paper-11

27. Identify the correct sequence :

(a) Regulatory decision

(b) Hazard identification

(¢) Risk characterization

(d) Exposure assessment

Codes :

Ay (@), @), M), (©
(B) (b, (d), (o), (a)
©) (a), (c), (@), (b)
D) (0, (), (a), @

28. Match the following protected Areas
 with the state to which they belong :

List -1
Protected Areas

(a)} Khajiranga (i)

(b) Jim Corbett (i1}
(¢) Ranthambore (iii)
(d} Gahirmatha  (iv)
(v}

Codes :
(a) (b) (c)
Ay ) @ G
B) @) () W)
© O @ O
Oy m G(v) W

List - II
States
Odisha

Uttar Pradesh
Assam
Rajasthan
Uttarakhand

(d)
@v)
@
(iid)
()

B-28-17




29. The sequence of pollution monitoring
agencies 1s :

(a) Village, Block, District level
(b) State level
{¢) Country level

(d) Inter - Governmental level
Codes :

(A) (a), (b) are correct

®B) (@), (B, (c), (d) are correct
(C) (), (a), (d) are correct |
D) @), @, (9) are correct

30. On land biomes, Zonation based on

productivity and respiration or thermal
stratification of a pond with :

(@
®
(©
(d)
Codes :

Limnetic (P/R > 1)
Profundal (P/R < 1)
Metacline (P/R = 0)

Compensation depth (P/R = 1)

(A) (a), (b), (c) are correct
(B) (), (), (d) are correct
(C) (a), ), (d) are correct

D) (a), (o), (<_i) are correct

31.

32.

P _x}ﬂ. ;‘.1 A ..u:.._- b ¥ TN T s v 10
ap&% T o . o e b S e TR R e T T
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Farmers, plough the soil as early as
possible in the spring in order to restore

oxygen to the soil. This process is to
avoid :

(A) Nitrification
(B) Denitrification
(C) Ammonification
(D) Humification

Assertion (A) :

Desulfovibrio and other varieties of

sulfate bacteria are

ecologically important examples of
anaerobic respiration.

reducing

Reason (R) :

They reduce SO, in deep sediments and
in anoxic waters to H,S gas. The H,S
can rise to surface waters where it can
be oxidised by other organisms.

Codes ;:

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)

1s not the correct explanation of

A
(€)

)

(A) is true but (R) is false

(A) is false but (R) is true

D EL CRL LSRG N - e A e )
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33. Choose the correct sequence :

‘Biotic succession’

(a) Pioneers

(b) Competition

() Reaction

{(d) Chmax

(¢) Invaders elimination
(ff Nudation

Codes :

Ay ®, @, ®), (), @), d)
(B) (), (e}, (a), (D, (B, (e
(© @, (@), (e), ©, (a) (b)
@) ®), (@), ). B, . (&

34. Match the following :

List - 1
(a) Activated Carbon 1)
(b) Electrostatic (11)
Precipitator
(¢) London Smog (iii)
(d) Los Angeles Smog  (iv)
Codes :

(A)
(B)
©
D)

Paper-I1

@ M © @
Gi) Gv) @ G
G) @ Gv) (i)
@ @) @ G
(v) i) Gi) @

List - 11

Reducing
Smog
Oxidizing
Smog

Bad odour
Dust

11

35. UNES_CO'a programimes on
Environment and Natural Resource
Management aim at :

(a) Providing the scientific basis and
training personnel for solving the
environmental problems

(b) Understanding the relationship
between natural and human
components of development

(¢) Research by Interdisciplinary
teams on ecological and social
systems

(d) Application of statistics
The sequence is :

@A) ), ©, (d) are correct
(B) (d), (a), (b) are correct
(C) (a), (b), (0) are correct

(D) (a), (d), (b) are correct

B-28-17




36.

37.

Paper-I1

Equations for measuring species
richness and species appointment are

(a) Margalef (D=S-1/n N)

dN
(b) J-Curve (a" = I‘NJ

() Information theory

(H=-¢PilnPi)

(d) Evenness (e=Fifln S)
Codes :

(A) (a), (d), (c) are correct
(B) ®), (), (d) are correct
(C) (a), (b), (d) are correct
(D) (a), (¢), (d) are correct

Assertion (A) :

Mangroves act as nurseries for several
marine organisms and contribute to the
replenishment of marine populations.

Reason (R) :
Mangroves act as depositories of silt
and nutrients brought from rivers and

provide relatively low turbulent
environment.

Codes :

(A) (A} is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(D) Both (A) and (R) are true and (R)
13 not the correct explanation
of (A). '

12

TSN

38. Arrange the Zonation of the sea in

proper order :

(a) Pelagic Zone

(b) Neritic Zone

(c) Benthic Zone

(d) Littoral Zone

Codes :

(A) (@, (), @), (@

(B) @), (), (a), ()

(C©) @), ©, &), @

D) (a), ®), @, @

B-38-17




39. Match the following :
List - 1

(a) The square of the co-
efficient of correlation,
the relative measure of
the closeness of the
asgociation

The ratio of the wall
shearing stress to the

®)

dynamic head of the -

stream

(c) The standard deviation
of a distribution
divided by the mean. It
may be expressed as

percentage

(d) The product moment
correlation between
the actual values of the
dependent variate in
multiple regression. It

measures the closeness .

of the
association between a
number of independent

combined

variables
Codes :

(a) (b) (c)
Ay (i) (@Gi) Gv)
B) Gv) (i) @)
(©) Gv) (i) @)
@) @) Gv) GD)

Paper-I1 .

List - IT
(1) Co-
efficient of
multipk_e
correlation
(ii) Co-
efficient of
variation
(iii) Co-
efficient of
determi-
nation
(iv) Co-
efficient of
friction
(d)
®
®
(ii)
(i)

13

40. Hydrological cycle includes and
sequence is :
(a) Evaporation from oceans
(b} Condensation
(c) Precipitation
(d) Lakes, oceans
Codes :
(A) (d), (b) are correct -
(B) (), (c), (d) are correct
(C) (a), (c), (@) are correct
D) (a), (), (), (d) are correct
41. Match the following :
List -1 List - IT
(a) Ozone depleting i) 8Oy
substance
(b) Green House Gas (ii) Radon
(¢) Acidic gas (i) CO,
(d) Radioactive gas (iv) CFC
Codes :
(@ (b)) (c) )
Ay () @ 3Gi) @)
B) Gv) (i) G 3G
© Gi) Gy (v @
D @ Gv) @) 3§i)
42. Which act created the provision of
PIL ?
(A) The biological diversity Act 2002
(B) The factories (amendment) Act
1987
(C) The national environmental
tribunal Act 1995
(D) The environmental protection Act

1986

B-28-17




43.

44.

Bapekll T e

Assertion (A) :

Energy flow is one way; some of the
incoming solar energy is transformed
and upgraded in quality by the
community, but most input energy is
degraded and passes through and out
of the system as low quality heat energy.

Reason (R) :

Energy can be stored, then ‘fed back’, or
exported and reused. Materials,
including the nutrients necessary for life
(Carbon, nitrogen and phosphorus) and
water cannot be used over and over
again.

Codes ;

(A) Both (A) and (R) are true and (R)
ig the correct explanation of (A)

Both (A) and (R) are true but (R)
is not the correct explanation of
(A)

(A) is true but (R) is false
(A) is false but (R) is true

B)

©
)

When body temperature rises, several
mechanisms help in loosing heat but
mechanism that helps in reducing heat
production is :

(A) Reduced breathing

(B) Reduced raté of metabolism
(C) Excessive sweating

(D) Excessive vasodilation

14

45.

46.

LU T

Spectrum of electromagnetic radiation
consists of :

(a)

Ultraviolet rays
{b) Visible rays
(¢) Radio waves
(d) Cosmic rays
Codes :

(A) (a), (b), {c) are correct
B) (b), (c), (d) are correct
(Cy (a), (b), (d) are correct
(D) (a), {c), (d) are correci.:

A decrease in pH results in :

(A) Increase in primary productivity
(B) Increase in microbial productivity

(C) Increase in toxic metal availability

(D) Increase in soil fertility

B-28-17
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47. Match the following : 30. Match the following :
List-1 List - II ' List - I - List - IT
(@) The population (i) Club of Rome ~ (a) DDT () Oxidizing agent
Bomb | (b) Teflon (i) Ozone depleting
(b} Silent Spring (i) Lester Brown __substa.nce
(c) State of the (i) Rachel Carson . - (@ CFC - (i) Polymer
World = (&) Ozone (iv) Persistent
(@ The limits to  (iv) Paul Ehrlich organic pollutant
Growth Codes :
Codes : . (a (b) (0 @)
(@A) (b) () (@) A @ @) @ i)
(A) (i) Gv) @ (i) ®) i) @ Gv) @)
B) @ @) (i) Gv) ©) @ Gy () Gv)
© Gv) Gi) Gi) @) D) Gv) Gi) @) G)

@) G) @  G@v) @)
-00o-
48. Atmasphere is stable if :
(A) ELR>ALR , i
(B) ELR < ALR
(C) ELR > SALR
(D) ELR > DALR

49. The Thar desert is in :
(A) Africa
(B) Asia
(C) Australia
(D) North America

Paper-IT .= : : IR R RS iy B2s.i7
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Space For Rough Work
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